HW 5.3(b) Key

1. Let X and Y be continuous random variables with joint probability density function given by

f(x,y)=17182(x+y2) for 0<x<3 and 0<y<12.Find fy(x) and fr(»)-
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2. Let X and Y be continuous random variables with joint probability density function given by

f(x,»)=240e H0x14) o 0< y<x<o.Find fy(x) and fy (»).
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3. Let X and Y be continuous random variables with joint probability density function given by

(. y)——( = §52} for x,y=1.Find fy (x) and fy (7).

y X'y
A L[4 4L
g’x ) = 7 S X3\/ 3&7 T [ 3 )(7'\/3 |
. _4_0_[
B
2. Qo
T 7\ x*t ot

ES \
B ey
s 5 17 (- - [ R

"
Jie
~—
(L\(;

M|
\ﬁ )
v

4. Let X and Y be continuous random variables with joint cumulative distribution function given by:

p 4(1-y) 1 » 12(1-x)
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F(x,y)=1- 5° 2x2+ oo 2y+ % for x,y>1.
Find fy (x) and 1v ().
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5. Let X and Y be continuous random variables that are uniformly distributed on the region definedby x>0,
y=0,and 8x+5y<120.

Find E[X] and E[Y]
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